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‘there’s still plenty we get wrong about the behavior’ (alinea 5)

In films wordt het gedrag van mannelijke gorilla’s vaak fout weergegeven.
- Hoeveel van dit soort foute voorbeelden worden in alinea 5 genoemd?
Noteer het aantal.

‘quite a high-risk factor’ (alinea 6)
- Leg uit welk risico hier bedoeld wordt.
Geef antwoord in het Nederlands.

Kies bij _27 _in alinea 6 het juiste antwoord uit de gegeven
mogelijkheden.

A As aresult

B For example

Cc However

D Similarly

How does the writer conclude this article?

A by explaining why research into chest-beating is so popular

B by giving examples of some harmful effects of chest-beating

C by listing some unanswered questions about chest-beating

D by summarising the findings from earlier studies into chest-beating

Tekst 7 Miso maker creates cricket soy sauce

29

30

31

‘Miso maker creates cricket soy sauce’ (titel)

- In welke alinea worden voordelen genoemd van insecten als
voedselbron ten opzichte van andere dieren?

Noteer het nummer van deze alinea in de uitwerkbijlage.

Kies bij _30 __in alinea 3 het juiste antwoord uit de gegeven
mogelijkheden.

A although

B because

C so

How does paragraph 4 relate to paragraph 37?

A It explains why the product introduced in paragraph 3 is expensive.
B It gives some details about the product introduced in paragraph 3.

Cc It lists the motives for making the product introduced in paragraph 3.
D It stresses how rare the product introduced in paragraph 3 is.
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Which of the following is not mentioned in this article?

A Antcicada already had an insect-based dish on its menu before
collaborating with Noda.

B Noda’s company is trying to become the world’s leading insect-based
soy sauce manufacturer.

Cc The flavour of cricket-based soy sauce is distinctively different from
ordinary soy sauce.

D The nutritional value of insect-based miso is comparable to that of
traditional miso.

Tekst 8 James Vickery: ...

33

34

35

36

‘Behind James Vickery’s left ear is a tiny tattoo’ (paragraph 1)
What is Vickery’s tattoo meant to make clear, judging from the text?
A that he believes his hearing difficulties have shaped him

B that he has chosen not to wear a hearing aid all the time

Cc that he thinks his music should be played at a loud volume

Which of the following best summarises paragraph 27?

Paragraph 2 describes

A how a health problem eventually led to Vickery becoming a singer.

B how a medical misfortune almost ended Vickery’s singing career.

C how singing comforted Vickery when he was recovering from surgery.
D how Vickery discovered his hearing problem through singing classes.

What did Vickery’s vocal coach teach him, according to paragraph 37
A to articulate both the words he sang and he spoke

B to copy the style and sound of famous artists

C to get over his stage fright and perform in public

D to increase his volume with a singing technique

What is the point Vickery makes in paragraph 47?

A He is convinced that music can help people live a healthier life.

B He finds that sharing his experiences makes him stronger.

C He hopes his songs will prevent others from making his mistakes.
D He thinks men should be more open about their emotions.
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